


2. a=1+i,p=2-iBHE425E 47w g T o, e+ B+
ap + ap O 27

@ o @ 3 ®7-2 @®7-i ® T+i



® (x-1)2%=1

@ (x+3)?2=1



oMYA 2x° ~6x+3 =

4.

@ 4 ® 6 @ 8 ® 10

D 2



2 = —1012t & o, thg F AFste] 847} B 5 RSk |

-2, — V2, 2i, -2i
3i, —=3i, 1—-i, 1+1i

@ 17 @ 274 @ 37 @ 47 ® 57



1+2i 1-2i
6. x=1+2i,y= +.171= .l
1—1 1-1i

A o xy + xz 9] &S FFopA?

O -1+3i @ -1-2i @ -1+2i
@ -1-i ® -1+



1+ V2i
x:T

D -2

Ao, 9x2 — 6x + 5 9] FF&?

@ -1 ®0 @1



8. OIAFEAA x4 (m+ Lx+m+4=00] FLE A o), BE U
m e gre] gL Fotu?

@ -3 @0 @ 2 @ 3 ® 5



9.

OIAPPAA] 2 4+ 2x 4k -3 = 00] AZ ThE &
— T

ko] g2

® -1 @0

@1

@ 2

® 3



<

L0

X

Y

o

19

g 27

oY EA x* — x(kx = 7) +3 = 0°]

s

10.

©9

® 2

@ 5



= 1§ 2 +y29] & SLSHA 2.
ZAZ|l = A x, yE TS, 2 +y? o WS F

(1-2xi)(2-yi) =6-2i (&, x>0)




12, fx-2|+ v -3 = 12 WHsHe A5 x 0] AH4E0

rr

@ 074 @ 174 @ 274
@ 371 ® 47fol4



13. oA A (1-i))x2 4+ (-3+i)x+2=08l=x=aFEEx=p+qi
oltt. ol W, a+ p + ¢l &= TSt (F, 4, p, g L)

it

a



14.

xof thek oJ2ARg7E A x

a,b®] k& F-stol=t,

YENE

*+tax+b=09 e

YERE

oo

-1+ 2% uf,

o 2~
T =TT



15.

¥ -2x+3=09 F

Fotofet.

D
=%

. (o? - 20) (8% - 28) o F=



ojn

PER

S
—

O x®4+5x+1=0

@O m=0F=49 W, x> —mx+m

PER:!

kel
—

@ k219 x2-2x+2-k=0

® x2-6x+a



(VB4+ 12+ (V3+1)x-2V3=0

® V3

® 0 @1

® -1

@ -V3



18.

O
-
(
Ay

ki

Al

9x* = 2kx +k-5=09] F 2 A7t 2 wf, A= kghe]






2 +(a®-a-12)x-a+3 =0 (a

74

%9 0|2

20.

£9

o} B8 % a9l 7

s

ddigho] a1 Fort Hidiat

® 6

@ 5

® 4

@ 3

D 2



